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1.

-

The 'Samiti' for the Jain Monks 'not to do
violence through food' is called -

(1) Aishna samiti {2) Trya samiti

(8) Vyutsarg samiti  (4) Bhasha samiti

(5) Question not attempted

In which Upanishad there is a mention of the
debate between Yagyavalkya and Gargi in the

-~ Court of Janak?

4,

(1) Brihadaranyaka Upanishad -

{(2) Aitareya Upanishad

(3) Mandukya Upanishad
(4) Katha Upanishad
(5) Question not attempted

< Name the Britisher who has called the Revolt of

1857 'as a “National Rising” - ;

(1) W. Tayler (2) T.R. Holmes

(3) Benjamin Disraeli (4 Sir-James Outram -
(5) Question not attempted

Name the women disciples of Ramananda w
carried away his message from door to door af
his death - .

(1) Karaikal Ammaiyar and Gangasati

(2) Andal and Janabai

(3) Padmavati and Sursuri

(4) Ladbai and Meera

(5)*Question not attempted

Sir William Jones has equated Chandragupta
Maurya as which of the following? .
(1) Sandrocottus

(2 Amitrochates

(3) Allitrochades

. {4) Agrammes .

(5) Question not attempted

Which Czar has been called ‘Czar the leerator
who reformed the internal system of Russia?
(1) Nicholas IT (2) Alexander I

(3) Nicholas I (4) Alexander II

(5) Question not attempted

~ \

1 99 o & fhggell & ol ﬂﬁmmﬁwq‘aﬁﬁ“

Tl gy wEam & —

(1) Tyon afafy (2) ot vk
(3) gt wfAfer @) ~r wfARy
(5) srgaiRa ueA .

- 9 Sug § Oe @ e A Ieded g

TR @ 419 §Y a5—{391g BT Seord &7

(1) JEENTTD SURNg
(@ v waRg
(3) wvSE SURg
(@) T5 wufg .
6) srRa T

. U SIS BT 9 9asy S 1857 & s

P TE A wErer — |

<

(1) S, TR (2 aaj@i E?IFH
(3) Jroi FooRTEel (4) WX o SegH
(5) a‘ﬂﬂﬁﬁ m LA E LI A

qgar? X
(1) PEHper FHAR ST TR
(2) afeTet iR AT
(3) TRl 3fR GRgW T
(4) e SR AT -
(5) srpaRe T i
- Wﬁ%ﬂqmlrﬂ#qrﬁgwrﬁﬁmwﬁmw
R % e
(1) dvgrprea -
(2) sRERE o
(3) TR &
@) T o
(6) srgeRa T

B @ foU 'SENe W SErigar 87

(1) fereg T (2) sergorer 1
(3) e 1 (4) IEigvsy 11
(5) srpaRar wed
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?

10.

11.

12.

13.

———

4

?thb among the following was not a' member of
the ‘Cordeliers Club of France’?

(1) Danton (2) Habert

(3) Marat {4) Robespierre

(5) Question not attempted

in which session of Congress the Quit India
Movement Resolution was passed in
Aungust, 1942? i

(1) Bombay Session  (2) Poona Session

(3) Nagpur Session (4) Madras Session

(5) Question not attempted

The word “Mansab” was derived from which
language? .

(1) Urdn (2) Persian

(3) Arabic* (4) Hebréw

(5) Question not attempted
‘The book of Gupta period ‘Romaka Siddhanta’
was related o - ’
(1) Mathematics (2) Religion
(3) Technology (4) Astronomy
(5) Question;not attempted ' * '
Which of the following pair is not correctly
matched?
§1) ]Vatsyayana - Panchtantra,
(2) Bharavi - Kiratarjuniya
(3) Harishen - Prayag Prashasti
(4) Vatsabhatti - Mandsaur Abhilekh
., (Kumargupta T)
(5) Questiofl ot attempted
Who served as the ‘Dome” builder of Taj Mahal?
(1) Geronimo Veroneo (2) Ustad Isa Effendi
(3) Ismail Khan (4) Ustad Ahmad
(5) Question not attempted

Name the archaeologist who first pointed out the
similarities between Early Harappan Culture and
Urban Harappan Culture.

(1$ D.H. Garden (2) Mortimer Wheeler
(3) John Maishall (4) Amalananda Ghosh
5) Question not attempted

7. frefafag # @ oW w9 & BERE T99
T GG TTal AT
(M == (2) &g
@) #R1e (4) IRy’
(8) Srg=ilRe wed
8- HIUY gRT N, 1942 B fFa 3w ¥ wRa
* BIST HGICH BT UG TRe §an?
1) o afdee (@) g s
@) TR SRRTE (@) WE iR
(5) IrgeiRa w9
9. "HIHY" T B Sounl fFa A & g 87
M= . (2) Ty
(3) ST @ Ry,
(5) argaiRe ue |
10. [EBIeiE Iwie We (gla’ |eft off —~
(1) =Iforg < @ 9
@) JHie 9 - (4) TR 9
(5) argae W
. 1 # 9 $iar g gafo =& 87
() T — YeEE
(2) Wi — v
(3) Ry — W wERe
@) TS — AR SIfeE (GRS 1)
(5) argaiRa e
12. arovisd @ Jag i &r'eel e e
(1) R @R (2) swarg 91 g9
@) soRaEE . (@) SwIT IEEs
(.5)31'jﬁﬁﬁ§|3?fl
13. 9 QRIqeafdg &7 99 qarsd e Tom 9) g4
AT BT @it | '
(1) SrgE, T (2) HifEaR e
(3) ST Hrghe (4) aFTEg 9y
(5) srf<iRa ued
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14. Who among the following were associated to the
establishment of the revolutionary organisation
‘Anushilan Samiti’ in Bengal?

1) Barindra Kumar Ghosh
(i)  Bhupendra Datta
(iti) Khudiram Bose
(iv)  Prafulla Chaki
Select the correct code -
Code -

(1) Only (i) and (ii)

(2) Only (i), (ii) and (iii)
(3) Only (iii) and (iv)

(4) All (i), (ii), (iii) and (iv)
(5) Question not attempted-

15. The accountant in the Shivaji’s administration

was called -

(1) Dabir (2) Majumdar
(3) Surunavis (4) Panditrao
(5) Question not attempted

16. Where was the headless -standing statue of
Kanishka found with Kanishka’s. name inscribed

at the bottom?
(1) Amaravati (2) Gandhara
(3} Mathura (4) Nagarjunakonda

(5) Question not attempted
17. Who among the following compared
~ “Salt March” to Napoleon’s March to Paris?

(1) JL. Nehru
(2) Chittaranjan Das
(3) Subhash Chandra Bose
(4) Mr. Brailsford
(5) Question not attempted

" 18. Who founded the ‘American Philosophical
Society’? |
(1) Benjamin Franklin (2) Thomas Painé *
(3) Samuel Adams (4) Patrick Henry
(5) Question not attempted

19. The title given by the British Government to

Mahatma Gandhi which he surrendered during
the Non-cooperation Movement was -

(1) Rai Bahadur (2) Honourable “Sir’
(3} Kaiser-e-Hind (4) Hind Kesari

(5) Question not attempted

14,

15.

16.

18.

19.

fafeiag § @ 39 durar # wifder! den
‘SIRiTeT AT B I ¥ WA o7
() WREFgRET

(i) o= &

(i) gERM 99

Gv) WgE =@ ’
HE FH BT TG BT, —

R — «

(1) &9 (1) 7 (i)

“(2) Baa (1), (i) T (iii)

(3) BaaT (i) T (iv)

(4) (i), (i), (i) T @v) I

(5) argaiRe T2 o

Rt & wme § oNsuqu ﬁ g?m‘\fr ST
QJT —_—

(1) g9k (ﬂﬂﬁﬂ@ﬂ
(3) goEaN (4) dfSaxma
{5) araRa ued ol
HIT BT 9 GaT 3, Pel 6 U gs &7
(1) IRTEa] - (2) TR~
(3) 7™ (4) ARTIOTRIST
(5) 3rpalRa we
- Foretferiea & forge e AT @ ger
Tiferad @ RN A | 9T iR
(1) 9ga. A% oF
(@) Rrésr T -
(3) Ty = A e
(@) s doamIe
(5) srgEiRa wee #h e
sRE Reifelifeme mﬁa B T
forae @y o CHEN ‘
(1) Sonfem weapfem () effmae
(3) dmperer Tw (@) S, e
® sraRe e
fafee werR gRr wEw Tneﬁzb’[ﬁrﬂs‘ S,
ﬁﬁa@#mmzﬁaﬁwmﬁm
o, 78 of — o
(1) X1 qETER (2) AT R
() FER-—T-fe (@) fiz ey
(5) argaRy et |
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20.

21.

22,

“Tropical-wet evergreen foresis”, are mostly

found in which part of India?

(1) Central Part (2) North-East

(3) North-West (4) South-East

(5) Question not attempted

As per Census 2011, which among tlie following
group of districts is having highest literacy rate
in Rajasthan?

(1) Jaipur, Sikar, Alwar

(2) Kota, Thunjhunu, Sikar

(3) Kota, J aipur, Jhunjhunu

(4) Jaipur, Jhunjhuru, Sikar

(5) Question not aftempted

Which among the following is/are hot winds?
(A) Foehn

(B) Mistral

(C) Chinéok

(D) Bora

. Select thé correct answer from the code given

23.

24.

-

below -
Code -
(1) (A) and (D) are correct -
{2)-(A) and (C) are correct

(3) Only (C) is correct

(4) (B) and (D).are corréct

(5) Question not attempted.

‘Barakar’ is a tributary of -

(1) Satlyj River {2) Yamuna River
(3) Mahananda River  (4) Damodar River
(5) Question not atterpted

Which of the following Iron and Steel Plant was
set up in collaboration with Germany?

(1) Bhilai Steel Plant

(2) Rourkela Steel Plant

(3) Bokaro Steel Plant

(4) Hirapur Steel Plant

(5) Question not attempted

20.

21.

22,

24,

7 & e wr F e 19 S &7

(1) =g 9T (2) S5

(3) STR—f¥=w (4) sfRro—gd

(8) FrgmiRe wed

SFETOET, 2011 @ 9N, INRIE B

frferaa fofen wqg § 9 o9w waile
AR &Y NGT 57

(1) SR, WiaR, el

(2) Brer, I, .

() BleT, SR, T, .

@) SR, g, W

(8) srpaRa T
ﬁw%ﬁﬁﬁﬁﬁﬁnﬁw/mﬁ/%?
(A B+

®) s *

© e

D) 9RT

H R Y g 4 G TR P1 A9 P —
az\?_

(1) (A) T (D) 9] &

(2) (A) T (C) w1 &

(3) B () W & .

(4) (B) war (D) w&l &

(5) JrgaRa ue

'TUPY Th WERS T & —

(1) el et & (2) I Sy @y

@) w'rFraT T B (8) TMIER T8 B

(5) s e

FrafoRaa § 9 wimar dis—ganra gaa W
® TSI ¥ Rnfia fer war 47 .

(1) fvers s<ine 69T

(2) BT TG I

(@) IPRT FT HIH

(4) ERIYR S HWIH

(5) srgaRa W=
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25,

26.

Identify the river of Rajasthan on following
Facts —
(A) It originates from Haripura Village Hills

(Chittorgarh).

(B) It meets Chambal River near
Bhainsroadgarh.

Code -

(1) Chakan (2) Bamani

(3) Gambhiri (4) Mez

(5) Question not attempted '

The instrument for measuring relative humidity
is.-

(1) Hygrometer (2} Anemometer

(3) .Aneroid barometer (4) Hydrometer

(5) Question not attempted

25,

26.

B Y& BIFSTY |

(A) =& < BRI Mg B I (RrilsTe)
| ST BN E

(B) IT u9a W4 A doNieTe ® uN e
ST 1

He —
(1) =T (2) g,

(3) = @) 57

(5) 3rgaRa we ,

M EETdeR (@ iR

(3) ~ g\!\_ f, i (4) !5(,? L
(5) srgaRa W= T

27. The highest tides in the world occur in - 27: fqeg 3 Gﬂﬁhéﬂ%@ $AE B \J_tﬂ'\’fﬂjﬁ g -
(1) Hudson Bay (1) geu & @rel § e
(2) Bay of Bengal (@) g7 B @ H AR
(3) Bay of Fundy (3) Bodr FrES § Fa
(4) Mediterranean Sea (4) e ARR e U
(8) Question not attempted (6) areRIRE W3 J st

28. The ‘Israna Hills’ are located at - 28.. 'SERIT YBTISAl SN § — ., -5,
(1) Sikar - Jhunjhunu (1) dieR — g7 -
(2) Karauli - Sawai Madhopur (2) SRl — HaTg AR
(3) Jalore - Sanchiore (3) SR — wiER ’
{4) Rajsamand - Udaipur (4) oA — 9EAYR -3
(5) Question not attempted (5) aﬂﬁﬁa U nine

29. Who recognized the two major layers of the 29 3¥C T WIGCH B Y| Bl QI WRE O 1w+
Earth as Crust and Substratum? HFI? NS
(1) Pratt (2) Holmes ) e @B g
(3) Daly (4) Suess (3) =it @ T,
(5) Question not attempted (5) IR W

30. Which of the following is.a cold current? 30. RrefoiRad ¥ W P SIS S 8?7
(1) California (2) Florida (1) BRI (2) FefRer
(3) Guinea (4) Kuroshio (3 fr @) ARk
(5) Question not attempted (5) argRa we o

31. The ‘Nubra Valley’ is situated in - 31. a1 T Rer@ © — N
(1) Shivalik range (2) Karakoram range (1) Rrarfers sioft ﬁ (2) PRIBRA vl A
(3) Zaskar range (4) Ladakh range (3) SRR Ait # (4) e Sof A
(5) Question not attempted ' (5) srpaiRe wee -,
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32. Where is the ‘Instrumentation Ltd.” located? 32 =g fafids wEl siafeg 87 -
(1) Kota (2) Jaipur. ) E;rE'.T ,, (@) S
(3) Alwar @ Ajmer (@ R @ a‘mﬁ_\,g ‘
(5) Question not attempted (5) TR TE N
33. Which among the following is the approximate . 33- fm=ifda @ BDIFRA 5°10'S, SNy ¥ 7°50' S,
linear distance (along a meridian) between T o 99 (GO S T W S OER)
5°10' N latitude to 7°50' N latitude? AT NRah g 87
(1) 288 km (2) 290 km (1) 288 5.7t (2) 290 fr Al
(3) 302 km (4) 296 km (3 302 A (4) 296 f5 A
(5) Question not attempted -“-:",,;j 1
34. The cyclonic rain that occurs in Karnataka 34 T,ﬁEFI ®g H Felicd H B9 e ﬁ?b‘clﬁﬁ a5t
during summer is - 87—
(1) Mawat - (2) Norwester (1) Tige (2) AiaRex ¥
3 Kaibzuéaklu (4) Cherry Blossoms (3) BT T (4) D AT «
. (8) Question not attempted | (5) aFgaInGg W= L
35. Garh, Kotri and Mangropgare‘mining areas of - 35. 17, PIed TAT HNY G &F & —
(1) Magnesite (2) Fire Clay (1) FrarEe (2) BRIT. T
(3) China Clay (4) Silica Sand. (3) msm El (4) ﬁrﬁi‘cb‘r s
(5) Question not attempted (5) SFRING W= :
36. The average Albedo of the Earth is - 36. g} &7 sirg QeSS § -
(1) 31% (2) 27% (1) 31% (2) 27%
3) 47% (4) 35% (3) 47% @ 35%
(5) Question not attempted f (8)-rgaiRa wew | .
37. The igssaw-fit” evidence is related with the 37. GRS R g ¥ '\'TG@T‘T g,
theory of - IJ|E— .
(1) Plate Tectonics - Hess (1) wie it — &9
(2) Convection Current Theory - Holmes (2 Hge=1 R fogia — s
(3) Congnental Drift Theory - Wegener (3) wETEgd favemrae Rigia — a"'ﬁf«’
@ Geosynclme Theory - Kober (@) =g fagia — R
(5) Quesgpn not attempted (8) =ik v
38:‘Which of the following is an example of Shield  38. fr=ifaRas # ¥ FivwT W Hfice u—nnaTg@ Cal
Volcano? JETERT 87 IR TR T
(1) Vesuvius (2) Mt. Fuji () gfeaa - (2) Arsve. goi
(3) Hawaiian Islands  (4) Mt. St. Helena (3) Ta1E SR (4) ArSve d BoAT ¢
(8) Question.not attempted (5) SrgeIRe ue
22 - Page 7 of 32




39.

Which of the following statements are correct’

*about Keynesian Consumption Function? Select

correct answer using code given below -
(i) Monetary consumption is a stable function
of monetary income.
Marginal Propensity to Consume (MPC) is
. positive and less than one.

(iif)

(i)

Long run MPC is more than short run
MPC. ,

APC falls as income increases-and MPC is
less than APC.

Code -

(1) Only (i) and (ii) are correct

(2) Only (ii), (iii) and (iv) are correct

(iv)

(3) (i), (ii), (iii) and (iv) are correct
(4) Only (i), (i) & (iii) are correct
(8) Question not attempted

39. for ¥ W BN T B D ST BT B

IR ¥ w87 9 Y T g &1 swlhT B

§Y Wl SR FAY. -

) difts Sudr, Hifde em &1 ReR $em
5

G) ST B WEia 5gRY (MPC) eFTeTs et

TH ¥ B9 BT B

Gii) “Srefprei MPC, redTeie Mpc@f AP
BRil B

(iv) 3T g+ WX APC "ed! & @2 MPC, APC
I HH BN B

ﬁ —_

(1) et (i) T2 (i) Tl &

(2) daa (ii), (iii) /oI (iv) g

(3) (0), Gii); (i) 72T (iv) T &

@4) Paet (i), Gi) T ) WA E

5) arg<ie Uz )

40. Consider the following regarding Cross 40 dfi &I Gﬂ‘éﬂ Ah (exy) @ T ff 1w

Elasticity of Demand (exy) - R B —

(A). It ‘x and y are substitutes, then exy is A). Ig xRy @IHT‘CF{ g, ﬁ exy ESYISIE
negative. C B &

(B). If x and y are complements, then exy is B). I x 3R VARG g ar €xy HATHD BT &1
positive. (C). T x ARy GIferT 78f & @ eyy= 0 BWHF

(C). If x and y are not related, then'exy = 0. = .

Choose the correct option - wE ey g+ — .y

(1) Only (A) is correct (1) Daa (A) T8 & "y

(2) All (A), (B) and (C) are correct (2) (A), (B) 3k (C) &1 W&l & o

(3) Only (B) is correct (3) Bt (B) W&l ¥ .

(4) Only (C) is correct (4) Ber (C) T ¥ e

(5) Question not attempted (5) SrgIRe wes e

41. Choose the correct option that shows — MR Y 99 8 Ao B G BN,

(@) Number of Sustainable Development ST — ) i ' }
Gos, (a) Wa e el B &, g

(b) Year of its declaration and (b) THS =W P 9 IR -

(¢) Year of target-achievement (© Teg-Suar E‘ﬁ f

respectively from the following - T A T B — r

(1) 7,2000 and 2015 (2) 20, 2020 and 2030 (1) 7,2000 8k 2015 (2) 20, 2020 37X 2030

(3) 15, 2000 and 2015 (4) 17, 2015 and 2030 (3) 15,2000 3fiw'2015 (4} 17, 2015 3k 2030

(5) Question not attempted (5) SRIRG U=
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42. Usual status of unemployment is also known
as -
(1) Hidden Unegmployment
{2) Cyclical Unemployment
(3) Frictional Unemployment
(4) Open Unemployment
(5) Question not attempted,

43. Consider the following statements with Indian
reference =
(A). My =M, + Time Deposits with Banks
(B). Mas is also known as Aggregate Monetary
Resource. "
Choose the correct option -
(1) Both (A) and (B) are correét
(2) Only (B) is correct
(3) Only (A) is correct
(4) Both (A) and (B) are incorrect
(8) Question not attempted

44. Match List-I with List-Il and select the correct

answer by-using the code given below the lists -
List-I

Arithmetic Mean

Median

Mode
List - 1L

(i) It divides the distribution into two equal

parts.’

(&)
(B)
©).

(i)
(i)

Itbjs a stable measure of Central Tendency.
It is the best representative value of the
series.

Code -

(1) A—(i), B—(ii), C~(iii)

(2) A-(ii), B-(3), C-(jii)

(3) A—(if), B-(iif), C~(i)

(@) A-(iii), B-(ii), C-(i)

(5) Question not attempted

=

42,

{

43,

44,

e
R A A Refiy -+ peerd &
(1) ot ¢ Ao
@) T R
(3) FYOAD ARSI .
CEECERELN

(5) ST<IRA WeH
araE aRdem § frer Forl R R & -
(A). Mz=M,; + i & urg =\ SFr
B). M; BT TR AfXe GamE 9 Fa o
g
e AP T —
(1) (A) siR (B) QFT W&l €
(2) Baat (B) W B
(3)a%13(A)ﬂ€r%'
(4 (A) 3R (B) QI ToT B
(5) SIS W=
-1 BT GA-11 9 Bem & &R 1o ™
RY gT TE BT IWT W T HE IR B
T PN —
-1
(A) IR ARG -
(B) wifeasT '
(C) ¥geTP
g - I
() TE g7 B |1 AR A [T e
&l
() uE D WGRT BT GReR AP T |
(i) Ig o0 b1 oIS URIAR eu &1
=
(1) A—(i), B(ii), C—(iii)
(2) A—(ii), B—(i), C—(iii)

i

o

(3) A—(ii), Biii),.C-() .
(4) A~(iii), B~(i)»C-() - '
(5) STRIRE U .

22 %

Page 9 of 32




™
s —

45.-Consider. thie=following staterents regarding 45 XN & Wy A T weml W faER WY —

MGNREGA -
A. It was started in 2006.

A SHO YOI 2006 S o |
B.. 9 T8d, NREP &R RLEGP &7 fJer

B.  Under it, NREP and RLEGP were merged. P o M|
Choose the correct option - el fdeey g+ —
(1) Only B is correct (1) TacT B W81 © .
(2) Both A and B are correct (‘_2) AdSRBeMI®EI§
(3) Both A and B are incorrect (3).A 3R B Sl el :
(4) Only A is correct 4) Bael A WE'R
(5) Question-not attempted (8) Srgaifer W {
46. Jf too much money is chasing too few goods, the ~ 46 If% 9gq <% HaT 95q &9 WHF @I GO
resulting inflation is known as - ool § m URUIMET®Y 8 Frell
(1) Stagflation FATEPIT BEAH & — . s
(2) Demand-pull inflation ?ﬂ M ?%TQ?RF-I . A
o (2) i YR eI L
(3} Cost-push inflation N e
(4) None. of the above ) : . 4
- @ SR § Y P
_ (5) Question not attempted (5) IR U ooy
47. ‘Which of the following indicators is not included ~ 47- 7 # & fbw~ida® 3 Sigw S o
in the construction of Physical Quality of Life Erpie B T 3 wftafere 98 R 27
Tndex? | MR FY=R - @ e s
(1) Infant mortality rate (2) Life expectancy . )
(3) Basic literacy (4) Per capita income () mreyd e (4) ¥id S s
(5) Question not attempted . (8) srgaRa wet i
48. What will be the value of Mode in a moderately 48 et 280 aife wmer 310 arey A ST
asymmetrical distribution with Median 280 and §e1 # agad BT A T BIP i
Mean 3107 (1) 290 (2) 200 st
290 8200 (3) 220 (@) 320 ¢”
(3).220 . 4) 320 -
(3). Question not attempted (5) argeiiva we ’ : B '
49. Suppose the-prifngry.deposit of banksis¥ 10,000  49- #H Eﬁﬁm’ & d@f @ urifEg. e
a_nd'the cash reserve ratio of Central Bank is 10,000 32 iR ®=g §F &1 Fac IREE
10%, statutory liquidity. ratio is 25% and the U 10% B, B TR AIgUTT 25% 8
unutilised ratio of deposits’ with' banks is 5%, AR §BI & U T A PT SUYT SR
then the total dept)sits‘vs)il'l‘be‘— ' 5% €, O Fo A RN B — oy
(1) T 15,000 “ (2) T30000 1) 15,0002 (2) 30,000%
(3) 20,000 L @) 225,000 (3) 20,0002 (4) 25,000 %
(5) Question not attempted I (8). 3rgaiita g ’ t
22 - o " Page.10 of 32
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50,

51.

52.

'53.

If Government imposes an excise duty i the

commodity X’, then -

(1) No change in demand and supply, curves of
the X’.

(2) Supply curve of commodity ‘X’ will shift to ]

the right.

(3} Supply curve of commeodity ‘X* will shift to
the left. '

(8) Demand curve of commodity *X’ will shift to
the right. : !

(5) Question not attempted

Which of the following statements is true for

Disposable Income?

(1) Disposable Income is the difference between
Private Income and Direct Taxes.

(2) Disposable Income is the difference between
Personal Income and Indirect Taxes.

(3) Disposable Income is the difference between

_ Personal Income and Diréct Taxes.

{4) Disposable Income is the-difference between
Private‘Income and Indirect Taxes.

{5) Question not attempted :_

In which of the following situation the primary

deficit of Govérnment Budget tends to be zero?

(1) When the'net interest payment is zero

(2) When revenue deficit tends to be zero

{3) W@%gFﬁscd defici? is zero

{4) When fiscal deficit is equal to interest
payment | ‘

(5) Question not attempted

Which one of the following statements is correct

regarding the Consumeér Equilibrium?

(1) The slope of the indifference curve is less
than‘the slope of the budget line.

(2) ThéTconsumier’s valuation of the goods is
gréater than the market valuation.

(3) Thé:§lope of the indifference curve is greater
than the slope of the budget line.

(4) The slope of the indifference curve is equal
to the slope of the budget line€.

(5) Question not attempted

50.

61.

IfE WHR X’ TG W TG YD A E,

a1 —

(1) X’ & At 9 g ol § o5 dRaeT T8l
BT |

(2) gwg X’ &1 gRf 95 SR oNw faafdd 8
SR | .

@ oxg ‘X’ &1 gfd 9% SR @we fakia 8
SR |

(@) g X’ &1 | I% e o} fafia 8
SR

(6) sraRa wed

Y Arg o @ ol e # | Sier we

B T

52,

g

() gd arg 3 Aol e iR g o1 &
99 &1 IR B

(2) T AFY I RS AN MR mgeT TR
P 9 BT IR B

@) =d Iy A WEfke Y iR Te w1
P 9 BT IR B

@) &g 9w Mg el ey 3R STE FRl @
1 P SR 2 |

(5) srgxifRe wz :

= 4 4 g ok § TReR & 99 6

TRIHE Trel IR B

(1) o9 g =S YA P 8

(2) 99 JToq =IeT Y 8 9IRT ©

(3) Sig TSN TIeT I 8

(4) 99 ISP TIET AN YA S a_IER §

(5) SrpRIRT WA

QUG Hgert @ e d e 3 9§ el

P I ©7

(1) SRR 956 BT <1, q9IC YE & BTl | A
BTl B |

@ gell & fog Swiegar &1 gegion,
OIR—Yedip q affie g 21

(3) TCWRT TF FT TTe, quic W& D I o
A B B

(4) TCIT O BT BT, g9 Y@l § BA B
IR 2T | |

(5) ST W=

22
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54.-Whichi of the fellowing is most liquid measure of 54 wret # HaT gff &1 fore § § wivrar w1y walfies

money supply in India?
{1) M (2 M,
(3) Ma, @) M ;

(5) Question not attempted

L

-

Rl &7 :
(1):-M; ERYA

(3) M, 4 M,

(5) argaiRel ue

55. As one moves upward from right to left along 3 - 5 U T B URS NI 9N 95 O
negative sloped straight line demand curve, the TR ¥ R SW P 3R AR F9 W AT P
value of price elasticity of demand - - PHEq A —

(1) decreases. (1) wexi 21

(2) remains constant. (2) ReR & 2|

(3) increases. (3) gt €1

(4) first increases, then decreases. {4) Tg<l 9ol &, R gedi 81

(5) Question riot attempted (5) =ik o=

56. Income elasticity of demand will be zero; when 56 AT &1 31T @ra = 1), A &1 ¥ e T
a given change in income brings abouit - JRET —

(1) a more than proportionate change in quantity (1) 4l 8 AT # SNuios uRady 9 e

demanded. gRee ol B | .
(2) the ‘equal proportionate change in quantity (2) Y 1 9 | 99 ST aRads e
demanded. B o

(3) no change in demand. (3) i ¥ uReds & T 21 i

(4) a less than proportionate change in quantity @ 4l wE 9= # Uil uRads | oA

demanded. ) YR o 81 ' -

(5) Question not attempted ‘ (5) argaRaT e

57. Consider the following statements — 57. far] podl R feR X —

{A) Change in demand means a movement (A) HT & uRads T 8l ﬁsﬁr’a'ﬁ P PET
along a given demand curve for a # yRadw & uRvmHESy BTN 50T 9%
commodity as a result of .change in its W fERor 9 3 £y

B) -Ié?l;::ge in quantity demanded is a shift in ®) Trs‘ T A R Rl Eﬂﬂ @
the entire demand curve of a commodity : o .
resulting from the change in the B D R A PRl A e Eﬂﬁaﬁ
individual’s money income or tastes or @ i 7 IR B AR €l
prices of other commodities. gl T TEETN

Choose the correct option - W&l faeed ﬂef = P

(1) Only (A) is correct () Baer (A) wE § \

{2) Both (A) and (B) are incorrect 2 (A) @ik (B)THI Tod &

(3) Only (B) is correct (3) Bae (B) W&

(4) Both (A)-and (B) are correct @) (A) 3R (B) W T F

(5) Question not attempted (8) Frie U
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N 58. Consider the, following statements about"
Procedural Justice -
(I) The notion of Procedural Justice

corresponds to the philosophy of
Socialism.
(1) It treats the rules of Market Economy as the
model rules of human behaviour.
Choose the correct option -
(1) Both the statements (I) aiid (I) are not correct*
{2) Only statement (II) is correct
(3) Only statement (I) is correct
(4) Both the statements (I) and (IT) are correct
(5) Questlon not attempted
59. Who among the following is author of the book
‘Capitalism.and Freedom’?
(1) Isaiah Beilin (2) Milton Friedman
(3) R.H. Tawney (4) J. Macpherson
(5) Question not attempted

60. Which of the following subjects are included in
=
the State LISt of the Constltutlon of India?
()  Insurance
(I) Capitation taxes
(IIT) Fisheries
OYE
(IV) Ecgnomic and Social Planning

4

Choose the correct option -
(1) (D), (ID7(I) and (IV)
(2) Only;(j.and (II)
(3) Only«(ID), (IID) and (IV)
(4) Only ¢ and (1)
(5) Question not attempted
61. ‘In which of the following year India—-Sri Lanka
Free Trade Agreement came into force?
(1) 2005 (2) 2000
{3) 2009 (4) 1998
(5) Question not attempted

-

58.

»

59.

60.

61.

TRFITE W B IR RRaRiREd we W

e Hifsre — .

(O wikaee <™ P RN, 9HeEs @
¥ @ T B

() I% IR Spfemawen & FeEl o 4ra
GER & ey e & WU § Amar ¥

e fdwen g —

(1) e (1) 3R () DA wd 7&f &

(2) Baa Fo (1) 98 &

(3) Bt U (1) EE B

(4) P (1) &R (ID) ST |81 8

(8) JrIiR U

P § @ T SRk ws e
JET®. B NGB 87 '

- (1) surE sfel (2), ffee=T WwieHs
() sR.y4. e (4) 1. fHwdT
(8) FIgaRa uzH
Frffed § ¥ R Ry 1R @ Giiae
59 AT | afefer 87
o 9
an uitelad &=
() #fceTasy
(IV) anfeid MR ARG T
el [9®eq &1 EEN PTG —
(1) (@, (), (1) 3R AV)
(2) Fae1 () R (ID
(3) <baet (1), () 3 (IV)
(4) FIef (11) 3R (1)
(5) argila we T
ARA-STele] Jerl SR Fasiian Rl 4
4 {9 o oy gan?
(1) 2005 (2) 2000
{(3) 2009 (4) 1998
(5) IrgeIRa we :

22 %
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62.

According to Almond and Powell, which of t
following are the outputs of a Political System

2. grvs i e @ R FreRiRed § W

"

B omiad Fawe © Frfa: &2

() Regulative outputs (hp fafams g
(I) Cumulative outputs () E= et
(1) Distributive outputs (D) gl frfa
(IV) Symbolic outputs (IV) wiimrers ffa
Choose the correct option - & Riwe g — ;
(1) Only (1), (I1T) and (IV) (1) et @, (D) R @V). |
(2) Only (1), (II) and (IV) (2) St (1D, (11D &R (V)
(3) (@), (1), (1D and (IV) (3) (D), (D), (1) 3R (IV)
(5)-Question not attempted (5) s we "
83. According to Part-V Chapter 1 of the 63. WRa & VAWM & Y-V 3O 1 & TR
Constitution of India, which of the following is TH B BRUfed] | ﬁFITﬁo_cr ¥ 9 Eﬁ'ﬂ
not included in the Executive of the Union? wfeAfera 78187 f
(1) President (1) wrgafer A o
(2) Attorney General (2) FEraRET 4D e
(3) Comptroller and Auditor General (3) frdzrep 3R AECETEe
(4) Council of Ministers (4) F=aRg et
(5) Question not attempted (8) Srgeier 3 hE
64. From which of the following Amendments of the 64 fr=ifed & § aRa & R‘fﬁ?ﬂ'ﬁlﬁ e <arE
Constitution of India, the words “Internal F §RT o 352(1) ¥ @ an‘r‘—ciﬁa I
Disturbance” have been subiracted from I ST AT 87
Atticle 352(1)? (1 4707 et s
(1) 42" Amendment Acf e SR
(2) 46" Amendment Act @ 46?4'T- =) AR P
(3) 39® Amendment Act ® 39EIT. - i
(4) 44" Amendment Act () 4da Sifarr s 1
{5) Question not attempted 2. (5) argaRa ue i
65. Which of the following statement is not corre@%& IeHIae g/ fer 4 il R ﬁ
regarding Political Theory/Ideas? JFFa TR S S g
e i ol bout s sty e i o
community, the obligation of citizeilship. @ wiie \_ﬁﬁ Hﬁ?ﬁ '\ﬁ _\Eﬁm gl

{2) Contemporary Political Theory has been @) FHRA I Rigia 1?70 @ <UD
influenced by the ‘foundationalist turn’ in woEae Rigia 4 m}iﬁﬁ'ﬁf ‘:h@' A
1970s in Political Theory. “ TS g 2 i v

(3) Political Theory up to and jncluding modern (3) A BT qF oIS @f@ﬁ TF Ui
period has been a textual tradition. (é?ﬁgaaa) RO < 2 .

{4) Medieval political thought was ‘wrapped up Rt N v ﬁfﬁﬁ PN
with the dominance of Christian Theology in R o '
sntellectual tife. 34Ty SR @ W 9 3resiad o |

(5) Question not attempted (5) sr<iRe ues
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« 86. In which of .the following ‘year, the “United 66 Frmiiftoer # 1 fper af &, ‘i) ¥ Ty vy
\ iaﬁons, lfhte;im Atdxsli.n}ilst(rii}’tion Mission in SRy yerge e @) e @Y TE?
0sovo’ has been established? .

(1) 1999 (2) 1997 (11999 21997

(3) 1995 (4) 1998 (3) 1995 (4) 1998

(5) Question not attempted (5) srgaRa o

67. Who among the following scholars considered 67~ fFfeiRea fagmi & 9§ fran w@a=ar iR
liberty and equality -as ‘Complementary A Bl WH ogia 9mEr?

Principles’? (D IRTE. e

(I) R.H. Tawney @) TRT. ERF

() F.A. Hayek ) . deweE

(I) C.B. Macpherson (V) TS SR

(IV) A.D.Tocqueville T8 RreeT 37 T ERE —

Choose the correct option - . .

(1) Only (1) and (TI) are correct o E EE)T;(EQ )ﬂfﬁg

(2) Only (II) and (IV) are cosrect % (@) B (1, (1D 3R () < &

(3) Only (1), (IT) and (III) are correct

(4) Only (I), (II) and (IV) are correct @) S (D), (D) 3R (V) & & }

(5) Question not attempted: (5) srgeife e

68. Consider the following statements regarding the 68 Wyed < o Fam uRvg ¥ i

Security Council of United Nations - el weEl W™ AR &% —

0 Thegecions o e Secry Gl on s et el ¢ e st
Iz:fﬁrr_natlvc vote of nine memgers, fofr <l wewdl & weRee w9 9 fo
including the concurring vote of the five o, v e uReg CALEIRSIE]
Permanent Members of the Security el © gafa aa o7 it i |

. gouﬂﬁﬂ-th fere the decisions of th ) 3 Ael R, gReT aRug & e

n all other matters, the decisions of the

‘( Security Council shall bé made by an A Sl @ A %rq WQ“T]
afﬂm)fltlve vote of nine members. el fawey ﬂﬁ—a h

Choose the correct option - (1) = (D Ud (I ) ?Tagf T B

(1 Both the statements () and (I¥) are not correct (2) Paa B (D) 9L 2 ¢

z:; gniy statement (3 is correct @) Baa Fo an S 2
n statement 18 correct L , "

4 Bot})ll t?le statem((mt)s (I) and (ID). z'ire correct ) For (D (@D 3 ¥ 2

(5) Quesgon not attempted (8) rgaia we

69. In which of the following year, United Nations  69. fr=iifoer # & fbg af & <gew < 9
has adopted the ‘Millennium Development e Saedie Meg’ S[g=TT?

Goals (MDGs)’?

) 2015 for 2) 2000 (1) 2015 (2) 2000

(3) 2001 % (4) 2020 , & 2001 2020

(5) Question not attempted (5) STTART T
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70. Who among the following considers Political
Science as a ‘study of influence and influenced’?
(1) Steven Lukes (2) H. Lasswell
(3) Richard Bellamy  (4) Max Weber

(5) Question not attempted

71. Consider the following steps of Scientific
Theory Building Procesg -
(i) Hypotheses

(i) Classification of data

R

Arrange the above steps in correct order -
(1) @), @), (), Gv) @) @(v), (i), (i), @)
@) Gv), (i), G, @ ) @, (D), Gid), (v)

(5) Question not attempted

(iii) Verification

(iv) Generalisation

72. Consider the following statements regarding

“Mission SAGAR’ -

(A) 1t was launched by India in 2020 to
enhance Joint Military Exercises with the
Indian Ocean region countries.

(B) It is consonance with the India’s vision of
‘Security and Growth for All in the
Region’ (SAGAR).

Choose correct option - '

(1) Both the statements (A) and (B) are correct

(2) Both the statements (A) and (B) are not

correct '

(3) Only statement (B) is correct

(4) Only statement (A) is correct

(3) Question not attempted

70. fopifesad § W B9 o f9sT BY 'TuE g

T B BT SRUaT HFT 87 /
(1) wga =g (2) T, e
(3) R=E vt (4) g 9w
(5) arFIRa U
. s Rigia Fmir ufsar & Freifds ot
R R $ifog —
()  WrepeTEY
(i) T BT THT
(i) R
(iv) WO _
SR el B wE) A ey R —

(M) @), (i), (i), (iv) (2) (iv), Gy, (iid), (@)
(3) (iv), (i), Gi), () ’.(‘.l) @), '(ii);;(iii), @v)
(5) oG e ;
72. ‘BRM WAR SLEIRC ﬁﬁﬂ%{@ﬁ Pl TR
fa=am Hifsre — '
(A) 9 9RG g B TR & B u B

sl
TS G I SR g & oy 2020
i
!th,?
(B) ¥E 9RG & ghesior ‘and ol & forg
T SR e (@FR) 'criéﬂwr gl
|l fwer g — il
i

(1) T2 (A) 3 (B) ST @& &

st
(2) T (A) 3R (B) ST W wEl E
(3) DAl B (B) 9D 2 ;7[
(8) Baa P (A)TE & AR

(5)31_:],?@?[93?[’

ﬁl;rRi’H:ﬁTﬂTTl'qT'?ﬂ]
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\ 73. Match List-I with List-II and select the correct  73- A1 & ¥A-0 ¥ foam o iRk sy

answer regarding the Act and Amendment in the
\ Constitution by using the code given below —
\ List-I
\ (Act). ] ‘
(A) Constifition (Niflety-third Amendment)

Act ‘
Constitutioii (Ninety-fourth Amendment)
Act
Constitution (Ninety-fifth Amendment)
Act
Comnstitiition (Ninety-sixth Amendment)
Act
" ListIE
(Amendmeiit)
Amendrhent il Article 334
Amendment in Eighth Schedule
(iii) Ammendment in Article 164
(iv) Thsertion of Clause (5) in Article 15
Code - .
(1} (A)-(iv), (B)-(iii), (C)-(ii), (D)-(@)
(2) (A)-Gy), (B)-(ii), (C)-(1), (D)-(ii)
(3) (A)-(jit), (B)-(id), (C)-(iv), (D)-(D)
(@) (A)-(ii), (B)-(iv), (C)-(1), (D)-(ii)
(5) Question not attempted

\®)

\
©)

(D)

)
(ii)

74. Who among the following scholar argued that

the ‘state can only secure negative liberty,
positive liberty is beyond the scope of the state™?
(1) John Rawls (2) Ysaiah Berlin
(3) Gerald C. (4) C.B. Macpherson
MacCallum
(5). Questlon not atteriipfed
75. Which of the following countries are. not
included in ‘BCIM Economic Corridor’?
(I) Bhutan
(If) China
(I Maldives
(IV) Bangladesh
Choose the correct'option -
; (1) Only () and (IIT)  (2) Only (T) and (IH) .
(3) Only (IID) and (IV) (4) Only (T) and ()
(5) Question not attempted

AR wfawr § frg v woeE & W § R

{7 17 g FT TAN FRA §Y E S g —
(erferieram)

(&) faer (formadl weieE) sffem

(B) < @R HeeE) e

(© e (et deem) siifem

'(D) ifou (arTdt W) sl

b o

@

74.

75.

@Il
(i)
agToE 334 ¥ HuRM <.
(i) oTedl g H WeRM o

(i) e=oT 164 § Hekem

(iv) aaa?é—msﬁas(sn%’rar—cr RITT
a;a —_— R

(1) (A)-(iv), (B)-(i), (C)-(ii), (D)-(D)

(2) (A)-(iv), B)-(iid), (C)-(1), (D)-(id)

() (A)-(iii), (B)-(ii). (C)-(iv), (D)-(3)

@) (A)-(ii), (B)-(iv), (C)-(3), (D)-(iii)

(5) argeiRa uew

f=ieRae Rgml 4 @ 5w o8 7@ R &
U BHael THRIAD -1 B &I B Gl
2, WPRICTD T XY B AN Fie &7

1

(1) S Jiew (Z)EKHTHTEEF%?[

- (3) IRIcs W Yo @) B ﬁiﬁtb‘xth
(&mﬁam ’
‘sﬁ?ﬁ%‘s‘weﬂfﬁﬂsw f{ﬁﬁﬁ%ﬂ%ﬁrﬁ
¥ BT 39 aftafa =gl 87
@O L™
an =
(Il HrerEa
(V) IFaey
w8 fades gy —

(1) e (D) &R () (2) e (D) 3R (1)

(3) Sger (1) 3R (AV) (@) Baa () iR (II)
(5) argeifee e
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76. Match the List-I with List-II
List-I
(Committees of Constituent Assembly)
(I)  Union Power Comimnittee

(I Committee on Fundamental Rights and

Minoritics
(III) Order of Business Comimittee
(IV) Drafting Committee
List-IT
(Chairmen of the Committee)
(2) B.R. Ambedkar
(b) J1.L.Nehru
(c) K.M.Munshi
'(d) Vallabhbhai Patel
Code -
(1) 1-(c), TI-(b), TI(d), TV-(2)
(2) 1(a), I1-(b), UL-(c), IV-(a)
(3) I-(b), H-(d), II-(c), IV-(a)
(4) 1-(b), I-(c), TI-(d), IV-(a)
(5) Questioh not attempted
77. Which of the following is not a test for HIV?

(1) Western Blot (2) Widal test
(3) RIP.A. (4) ELISA
{5) Question not attempted

78. In structural. terms, who has explained castes as
“hereditarily specialised and hierarchically
arranged groups”, while as a system, he has

referred to its three characteristics: hierarchy,

76. A1 BT e gE-I § PG —

-1
(SR T 2 W) /
@ 9 =k |
@ T GRPR v e wih
) R e | .
V) Y |k :
a1
(afafT & amae)
(@) HIR. B i
(b) T AEE b
(c) Hyd g 5 !
(d) oo WIS YA z
oHT — ;
() 1), I1-(6), TH-(d), TV-(a)
@ I-(d), M-(b), THI-(c), V-(a) &
(3) I(b), II-(d), IM-(c), IV-(a) *'"*
@) I-(b), II-(c), MI-(d), IV-(a) o' =¥
8) srgaiRa e, oqu’
77. %ﬁﬁr # ¥ P wEenEdl (HR)ST = T8l
? . X i
(1) I+ die @ ﬁ@é é‘-’g
(3) STEIME T, (4) gferay
(8) araRa W
78. wmeD gie W, R ST b1 derTeTa
w9 O fafre ok wErphe $EY wafed
WE D GO ¥ R 8, S B uel &
w0 ¥ SRR T A ARl @ See
frmr & uargew, durud fEmew &k

he_reditary specialisation and repulsion? YRS ofT
(1) C. Bougle (2) S.N. Dasgupta (1) |, e (2) TE.TH, SIS
(3) ML.S. Gore (4) B.R. Chaithan (3) TG R (4) §1ameAEr
(5) Question not attempted (5). saRa we ) a9
79. What is the name of the book waitten by Herbert 79 GeioreiRag fweiwer o= areli o i &4
Spencer which is the first work of sociological R gRT foredl ¥ g &1 n M &7
analysis? : (1) T vege ofe A 2
(1) A Handbook of Sociology 2) = R N h
-(2) The Principles of Sociology &= I v
() Saciol " (3 wfrrereft fer
ociology % . o . .
(4) Elements of Sociology () Telrre <ffm e .
(5) Question not attempted (8) SR 7%
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80. Which of the following according to Yogendra
\ Singh is not a cause of change in the Caste
\ System? | '
(1) Privatization (2) Urbanisation

\  {8) Industrialization  (4) Modernization
(5) Question not attempted

81X Who has suggested the following dimensions of
communalism - Assimilationist, Welfarist,
Retreatist, Retaliatory, Separatist, Secessionist?
(1) Ram Ahuja (2) T.K. Oommen
(3) Yogendra Singh () GR. Madan .

(5) Question not attempted

82. In the Purushartha System of Hmdulsm which
Purushartha is considered as the ultimate goal?‘
(1) Moksha - (2) Artha
(3) Kama (4) Dharma
(5) Question not attempted _

83. Qut of the following which concept refers to the
critical eye on the world, which observes every
social phenbrménon in a larger social context?
(1) Social Research ﬁ
2 Soc1010g1cal Perspéctive 5
(3) Social Survey
() Soc%)alT'Ihjcory
(8) Question not attempted

84. Suppo'sé’, there is a businessman, being a
busines§ffian  he comes in contact with

bustonﬁé'r(g' agents, income tax officers and trade
" unions. The role pattern in dealing with all these,

iscalled ..boeovreccrernrernens
(1) Rolé&set ‘(2) Status set’
(3) Role conflict (4) Status sequence

(5) Question not attempted

80.

A Riz & ogER B 4 ¥ @ s
wgaxen ¥ yReady &1 R ey 87

(1) forefrer © (2) TR

@) sieifieieRo.  (4) SR

(5) SIS W

- giygiRear's FElaRea w1 ggma
e R - I, FevER),

uﬁqaﬂmwﬁmﬂaﬁqwﬁ?

(1) < amEST (2 . sivm
(3) Irrs g (@ 'Gﬁ.STIT{. qGH
(5) SraIRa we

82.

83.

84.

fog o @ qownf wawern ¥, ﬁv_\‘rw?ﬁ
Yi° @eg WA R 87

(1) =& (2) apef

(@) am (4) e

(5) IR U

frafafeg § 3 SN s@uRom gfEm w

ITHISTE TEST B Uh g MHIoTe ey o

g7 AT &P

H

(1) |rnfors o

(2) TuTTETET aRyey

(3) TSI |deToT

(@) wroTE Rigid

®) srfa ue

HIT Ao/, Q?ﬁaﬂcn?r*a‘ Elgaawﬁrsﬁzﬁ?ﬂﬁ
UED], Toicl, I ARG Gl AUR
FEE S TS H A1 B | I I 9IS HaeR
o d Sl qfiPT B BT uRkEE B, 96
HEATH & |

(e ufome . (2) gRefy aikme

(3) firepT wend (4) wRefy s

(5) arqRINe wee : '

8. Who among the following sociologists 85 =1 # 4 P9 wHGRIEN F WSS Bl
considered sociology as a science that G & YaY WY Pl HHGE S Td
systematically studies and explain overall el e diel] (st His 27
perspective of society? ‘ ' e
(1) P. Gisbert (@ LF. Ward @ feee @ wegE S .
(3) H.W. Odum (4) F.H. Giddings @) asy, sired (4) ThyE, AR
(5) Question not attempted (5) argalRa we
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86.

86. In ancient times, what was it called when a
woman was allowed to have sexual relations
with a man other than her husband for the
purpose of procreation in the family?

(1) Kareva {(2) Incest
(3) Tali sanskar (4) Niyog
(5) Question not attempted 1

87. Who defined society as a system of usages and

proceciures, of authority and mutual aid, of many

groupings and divisions, of controls of human

87.

WEN 9 4, aRaR #§ Il § See o
HET S oO17

7

(1) e (@) Prperrm
(3) el RPN (4} ferT /
(8) ergaRer 7 g

P

|
behaviour and of liberties? & PRl 19 WEdaaRl 1 e 87 :
(1) M. Ginsberg (2) F.H: Giddings (1) oA, et (2) g PR J
(3) Maclver and Page  (4) John F. Cuber @) APz T AT (4 ST U, AR '
(5) Question not attempted . (5) s ues
88. Who believed. that social classes are ﬁs I8 5T 94T B & ?HTHTﬁﬁﬁ g SeEnfie :
characteristic feature of industrial societies? el @ aRfe ey § - #b
(1) S.F. Nadel (2) Yogesh Atal (1) Ta.U®. Trea (2) e 3fce }
3) T.B'.“Bqt_tomore (4) M.S.A. Rao (3) €191, dCER (4) TITET
(8) Question not attémpted (5) srgaRa e J
89. Who has analysed the functions of caste at two 89. TRY & HrT BT T & TR — ri:l'l’«bllvb 3R
levels — ritual and ideology? FRE ux ﬁ?@ﬁﬁ'ﬁ faar &7 e s
(1 I1:Iarm;1deshwar (2) MLN. Srinivas (1) TeweR g @) Q‘WFT ST h
rasa :
(3) RK. Mukherjee ~ (4) D.N. Majumdar (3) s, el (4) TR
() Questmn not attempted (8 Srgaier I A
90. Which ‘of the following is not one of the 0 fy ¥ ¥ Firar T G“i?ﬁ; qMen ¥ T
measures for eradicatiig poverty or at least B ’:IE?CTE{PT w9 W TH A D '\‘?C'THF T U {
teducing it significantly? & 87 7 {
(1) Creating e;rlﬁloyment (1) ISFTR FoiT % Lifs
(2) Land-man ratio (2) yR—Hra ST il
(3) Dlstrlbutlve _]ustlce (3) fercor =am 30k
(4) Flow of black money 4) B & BT YATE :-r e 1
. (5) Question not attempted: (8) argaiRa e . \
91. Who is Jhe. author of the book “Ending 91 "y wRwM: 818 € FeilF 319 ?ﬁ@'ﬂf &P 3
Corruption: How to Clean Up-Indja™? % IEEH PIT 8P ..
(1) K.S.Mathur ~ (2) N. Vittal (1) BT ARR (2) v, fage
(3) S. Kohlj (4) P.C. Choudhary (3) TE. Bigelr (@) . e )
(5) Question not attempted (5) ergaRa we
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L%

A {1) Auguste Comte
3 CcH Cooley
(5) Question not attempted

human nature’? :
(2) GH.Mead ,
(4) Emile Durkheim "

93. We can know that sociology is a scientific

subject based on the four points given by

H.M. Johnson. Which of the following point is -

not one of them?

(1) Ethical (2) Empirical
(3) Theoretical (9) Cumulative
(5} Question not attempted ’

94. Who stated that “religion is so universal,

permanent and pervasive in human society that
we cannot understand society without clearly
understanding religion™?
(1) K. Davis (2 EB. Tylor
(3) B. Malinowski (4) A.R. Radcliffe

. Brown
{5) Question not attempted

95. Out of the following which is not an important

source-of social.change?

(1) Integration (2) Diffusion
(3) Invention (4) Discovery
(5) Question not attempted

96. What do you mean by ‘Unity of command’?
Y ‘

(1) Subordinate will receive orders from only -

one boss.
(2) Boss can give orders to only osie subordinate.

(3) Subordinate will receive only one order.-

AE .3._;.."

93.

94,

95.

96.

grRIf g A W @Y e () &,
e e Far 87

) TR B (<hTE e
(@) drgE. we (4) qfdrer @i
() argaRa we . ‘
TE.GH. S g feg Y R el & emeR

TR B WM 9FG & [ TR e s
favg &' fr=fofea 49 o g s 9

Tep TRl &7

(1) 3R (@) s

(3) Figiqag (4) Ferll

(5) araifee weet

g fhasT $u 2 T “qFa w9 § o sae

e, @Rl T @E g 5 e @) we
mﬁmﬁmwwaﬁﬁﬁww
%?

() &, f (2) $41. TR

@) 41 wiferlgwst  (4) TR, YSfFAw greH
(8) sreiRa we | -
FefeRes 5 9 s aEIfTe Erﬁ’aﬁ?r Bl
qEqol S e 87

(1) TaET (2) TR

(@) afesR ) G

(5) SrqRIRg wes

‘AR B YT W AT FIT G &7

(1) i @7 Bael TP B STeN ey
Cuid] '

(2) STIRBR Dadl UH S B ey ¢
AHT B

'n-ul‘-‘

_ (3) SfIFReT B BT TP T A TG SFI |
(4) Boss can give only one order. (8) TERIET Dl TH ARY T webT 2
(5) Question not attempted ' (5) SR W
97. «A decision making is the selection of one  97- "gI &1 <1 ¥ ¥/ W et ¥ QR T
behaviour alternative from two or more possible =EeR [de o g AT é’r ﬁTUT'H HT B 1
alternatives”. This statement was given by - foramr @ &7 °
(1) George R Terry  (2) Lundberg (1) Sifot R & (2) goet
(3) 1.C. Glover (4) Herbert Simon (3) o). velER (4) = mgiq:-r
{5) Question not attempted (5) aﬂﬂ‘ﬁf{ g9 . !
= ;
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98. Which. of the following ‘is not- a principle of

scientific management?

(1) Individualism rather than cooperation

{2) Use of Science rather than Rule of Thumb

(3) Harmony rather than discord

(4) Maximum production ‘,I;g‘ther than limited

production

(5) Question not attempted
99. Who is the originator of the

Politics - Administration dichotomy?

(1) Henri Fayol (2) Mary Parker Follet

(3) W.F. Willoughby  (4) Woodrow Wilson

(5) Question not attempted

Pe 3

100: Iy how many groups did Hefiri Fayol divide thié
totality of activities of an indtiétrial undertaking?
Mo (28
@5 46 '

(5) ‘Q',filéstibnﬁnot e{ﬁempted

101. Which of the following is the correct sequence

of the communication process?

(1) Sender; Message, Receiver, Feedback,
Medium )

(2) Sender, Message, Medium, Receiver,
Feedback

(3) Message, Medium, Sender, Receiver,
Feedback !

(4) Message, Sender, Receiver, Medium,
Feedback

(5) Question not attempted
102. How many reports were submitted by First
Administrative Reforms Commission of India?
(1) Twenty (2) Fifteen

. (8} Ten (4) Eighteen

(5} Question not attempted
103. Who amiong the follewing s associated with the

‘Zone of Indifference’?

(1) Chester Bamard {2) Elton Mayo

(3) MLP. Follet (4) Herbert Simon

(5) Question not attempted

9. faRma 3§ 9 aﬁﬂwﬁﬁrﬁﬁ ua=] & g/

idea ﬁ 99.

100.

101.

el 87

(1). geiiRar & eI W Afdda

(2) D & P & e W) RS o SuT
(3) gud & wr o A 4

(4) G Seure & W W ifrped S
(5) srIRT W=

forw e 3 IOFIR-TEE &8 [OR @
yRw e

(1) 378 B (2) H¥ TR Do

@) sy TF. Ad  (4) gex e

(5) srRIRG U Coo

), Baler 5 fR) AERe SUEd B
M9 @8

35 1 @6 .

(5) argeiRer e P

frefofag & 9 9= nﬁﬁm PT HE HH
Eﬁ‘T:mT%‘?,, RO

(1) T=iue, Hawl, wraedr, giafssarn araa

" (2) GRIgh, G, AT, UT<IHal, Uiaihar

102.

103.
3

¥ IG”

(3) Tew, qEIH, GHINS, HIR‘IChCII afafshar
(4) 3=, I=IgD, UiEdhar, drE, ufafhar

L £

(5} srxiNe w= o
ARA $ WM WUISD *\garxf em‘m 5 T
CIRCER IR G AR ot
(1) e @ wggE,,
@ 4 O
(5)3@?[[}\'(‘[93;{ Wit

ﬁw%i@ﬁﬂﬁaﬁ:rm@wa%aﬁﬁ
g 87

(1) TR TS (2) Yoo I
(3) a4l Bicie @ g Tz
() srgRiRa ww ’
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104. Which of the following is not the main

105.

106.

107.

108.

109,

proposition of Human Relations Approach?

(1) Personal interest of employees

(2) Motivation

(3) Informal organisation of employees

(4) Individual difference

(5) Question not attempted

Who was not the member of First Administrative

Reforms Commission of India?

(1) Harish Chandra  (2) K. Hanumanthaiah
Mathir

(3) G.S. Pathiak, (4) V. Ramchandran

(5) Question not attempted

‘Who among the following was appointed as first

Chief Information Commissioner of India under

the provisions of Right to Information Act,

20057

(1) AN.‘Tiwari (2) M.M. Ansari

(3). Wajahat Habibullah (4) O.P: Kejriwal

(5) Question not attempted

The Third Minnowbrook Conference was

organised in 2008 which had the theme — ‘Public

Administrationrof Future, Public Management of

Future & Public Services of Future’. Who

presided this conference?

(1 Rosemary O’Leary (2) L.D. White

3 Wﬂhamr?x (4) Vincent Ostrom
lekan.’e__,rg R

{5) Question not attempted

Who is known as the forerunner of ‘Human

Behaviour Approach’ of organisation?

(1) Herbert Simon (2) Chester Barnard
(3) Mary Parker Follet (4) Elton Mayo
() Quesnon’not attempted

Which of thé" followmg 1s not correct regarding

104.

105.

106.

2

107.

" 108.

ﬁwﬁﬁaﬁwmﬁaﬂamwaﬂg@

weE w8 87
(1) pefeRat @ Pl R
(2) STgRoT |

(a)aﬁirrﬁu‘raﬂaa?ﬁqarﬁaamam .
(%) IR iR N

(5) e we S
DT ARG & FAH WIS gsm ITART BT
o T8 oar? ‘ t
(1) &89 T AR @) &, sgudar

(3) SiLTY. UISH @)@, e

(5) SrIivG U

e BT SIHR AR, 2005$maaﬁ’riﬁ
Wﬁﬁwﬁﬁﬁﬁﬁiﬁmmwﬁj@

A e R faar

(1) g, O (2) TAH. ST
(3) ToTEd FgeaE  (4) s a‘wm’ﬂw
(5) mﬂﬁﬁa LESH '

ga Mrﬂgch I | 2008 A Wﬁiﬁ 5
39 T ) onemerdl e @Y .
(1) AR ey (2) Ter s =rEe

(3) faferaw ©. ﬁwﬁq«)ﬁaﬁzene’m

(5) srgaRa wen

HToT B memwm
AT S 87

(1) &2 wigwT (@ Fe T
@) 5 TR Blee (@) T Wy
. (5)3ﬂﬁﬁﬁ e '

109.

cliddic U9 aidrga iy, 2013 %" GECK

= g

Lokpal and Lokayukta Act, 20137 g g EAGEs) T 948 @7
(;; Form?r‘Prime lr\{Iinister is in' its Jufisd.i?tion: (1) g serRE T SR § %l
( gm::llgl& complete. the investigation. in (2) 7% 6 7R ¥ Wi § T o
(3) It will consist of Chairman & 8 members. () i T H%]T 8 Eﬂﬁl
. {8 5 of these will be Judicial members. (4) &7 | 5 <% Fow Eﬁ; o
(5) Question not attempted (5) srgailvG U r "
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110. Which Report of the Second Administrative
Reforms Commission is named as ‘Ethics in
Governance’?

(1) Tenth Report (2) Seventh Report.
(3) Fourth Report (4) Second Report
(5) Question not attempted

111. Under the provisions of Lokpal and Lokayukta
Act; 2013, how many members. are required in
the .Selection Cominiitee for appoinﬁnent of

Lokpal? .

(1) One Chairman and Two members

(2) One Chairman aid Four members B}Fﬁ'ﬁ
(3) One Chairman and Three members i ;

(4) One Chairman 4nd Five members
(5) Question not attempted

112. Among the following views regarding the nature
of Public Administration which view was
supported by Pfiffner, FM. Marx and
L.D. White?

(1) Modern view (2) POCCOC view

(3) Managefial view  (4) Integral view

(5)-Question not-attempted

110. iy Jeifee GuR BENT & PR, wiida-
ST A A F A 87

(1) et AR 2y et wfede
(3) e wfrdeT (@) gawT HftgeE
(5) s T ' )

111.

lepurel T BT AR, 2013 & W]
$ aFaia, e of Py e age |tk
# frot w5 s wieA?

(1) Up 3remel Ud o 6w .

(2) T gl T4 TR Ued

£ .
£ (3) T oreme Ud AN 9w
H

(4) TP 3Ege wd Ui e

(5) argailRd W
P H Y PR, TeUE ARE Ud

T 'Y
(1) sy gheem (2 O gResr
(3) eI g ¢ (ﬂ@ﬁﬁfgﬁaﬂﬁw

(5) SFTIRT U%T

112.

118. Who wrote the book “Public Administrationina 113 “ufedies TSRIFREIM 39 T <igA % <gerg”
Time of Turbulence”? g e ferdi?
(1) .D. Waldo (2) Christopher Hood (1) 3. gieer 2 ﬁg—eﬁqu TS
(3) Osborne & Gaebler (4) Frank Marini ) EE @ figek @) hp ::rrﬁ:ﬁ
. (5) Question not attempted (5) sriRa we :‘;'
114. Which statement is false in the context of Mill's  114-fi & wuaifimE & el # B Her
Utilitarianism? ' Je— "
(n Happi_gess is the basic purpose of all human (1) T & T %) T EEBTSfT - WW
desires. »
(2) Along with quantitative difference, there is il ‘ )
qualitative difference in happiness. (2) g W uRAITeS 49 & W E S
(3) Theré is only quantitative difference in g+ g B X
happiness. } ‘ @) g& # daer IRAFTES A BT & ¢
@ T}.le 1 auslcnciousness 9f an actio‘n'n is (@) %4 Pr I I g Rk S
determined by the happinéss resulting from "y
it. b7 =l > ;
(5) Question not attempted ¢ (8) JrfaRa 7 . i
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115. Socratic- Method is called Dialectical because -
(1) it is a method of Question and Answer.

() it is- a method of ‘argument and. counter-

argument.

(3) it is"a method of teaching.

(4) it'fs a method of self-knowledge.

{5) Question not attempted

118. This is the correct interprefation of Normative

Utilitarianism -

(1) In this maximum happiness of maximum
people is the, ideal.

(2) In this happiness of othérs is the only ideal
for human actions

(3) In this besides happiness, knowledge, truth,

© virtue aré also self-achievable auspicious

(4) In this one’s own happiness'is the only ideal
for human actions

(5) Question not attempted

117. Point out' the correct option from below
regarding -the .relation of means and end with
respect to non-violence, Truth and God in the
Ethics of Gandhi -

Non-Violence | Truth | God
€)) means means | end
) meéans end end
3 end { means:] end
“@) end end | means

(12 () 4
33 @ 1

(8) Question not attempted

In which philosophy, it is preached to renounce
all worldly pleasures and lead a life of austerity
and detachment in order to attain salvation?

(1) Gandhian Philosophy

(2) Buddhist Phllosophy

(3) Jain Phllosophy

(4) Charvaka Philosophy

() Question,not attempted

118.

119. Of -what quality or vow “Mithyopadesha” is a

transgression (atichara) according to Jainism?

(1) Ahims3 (2). Satya (Truth)
(Non-Viglence) :
(3) Achaurya (4) Samyak-darshana

(Non-stealing)
(5) Question not attempted

7
:

(2) 7 99 iR yRide @ ey £
3) Iz v e & ugly & Ty
(4) I8 TH IMFH-T1 B! Ugfa 2
(5) araRa uw
'115-‘31133%?5@%@33%@@@1@[%—
(ﬂwﬁa@wwﬁaﬁrwa@raﬁﬁg@ﬁ
ey B
(ﬂﬁw@rmwﬁmﬂgzﬁﬁmw
areel ® ;g
(&mﬁg@%aﬂ%ﬁaﬁs‘nﬁ e, g, A
| R g & . “)
(@wﬁwﬁ@rg@é‘mﬁwiﬁaﬁwmﬁ
(S)Hjﬁﬁanﬁ
7.9 & +ifterey § afg, weﬁ'\f‘s'?ea?iﬁ
W § ARI—ERN @ W9 Bl Sw. b
Frafofea # & W e sa=d -
s R | EER
(1) awe A e
@) <rE- T ey
B wrg e e
4) <rg A | TR e
daed (1) 2 (2) 4 *
Gt (3) 5 @1 . @
: (5) 3r=iRa v -

115. e UGRT BT §5IAD HET SIaTs Faife-—
(1) I8 I%7 3ii¥ ST N ughy &+

I A

118. gy ity & oy oy WiNTTRG g@l &7 <

YD DO TN g NP e B SR
fa geiw § faar w37

(1) Ty <%=
() 95 3=
(3) &= T3=
(4) @mEie 3= . ;
(5) SrgIRY WA

SN &R @ SR ey ﬁv‘ﬂﬁwm
BT SoeiE 87
(1) s

(3) =R

(5) =i T

119.

e o

(2 '\'F\’I
(4) Tw=resE

¥

Page 25 of 32




120 “Neti-Neti’ is used in the context of ‘Nirguna

Brahman’, which indicates that -

(A) this is a negation of the qualities related to
Brahman

(B) this is the realization of the

indescribability of Brahman
(C) this is'a.Saguna explanation of the nature
of Brahman
; (D) its culmination is silence
Select the correct option -
(1) A, B and D are correct
(2) A, B and C are correct
(3) B and C are correct
(4) A and B are correct
(5) Question'not attempted
121.The peaceful attitude induced by th
contemplation of art.is the best illustration of -
m Vijnanamaya-Kosha (2) Anandamaya-Kosha
(3) Manomaya-Kosha (4} Pranamaya-Kosha
(5). Question not attempted
122. What is the meaning of “Samyak Vyayama”

—w————\

120. ‘Ryfor @t & el Af-Afy Eﬁruﬂ‘mﬁo—m
TR 8, S wenar ®fF — :
(A) I8 w= Rvas I o1 Fog 8
(B) Ig F&T P AT BT 9% T
(C) T FE1 B T B GO AT
(D) Toa TRuRy A9 F & N o
TE! fdpeq &1 T wY -
(HhA,BID w &l 3
@ A,BqCw& 3§
(3.B T C W& &
@A ATBESE i
(5) <R e

u121-w$ﬁaﬁﬁﬁﬁamqﬂ>rﬁw%mw

TR § —

(1) g 19 31

(3) R BT B

(5) SR U
122. 9 R & IQUR FEd ARM B 9

(Z)szm
(4) UTOET B B

PR L

accordmg to Buddhlst ethics? . e 27 Mok
pregztsﬁz; t0 ; ec;:latlono auspiciousness an @ g &1 SR o o BRI 3 T
{3) Concentration of mind (3) foret I T '
{4) Determination to follow the path of truth (@) g A W el BT ﬁﬁg“
(5) Question not attempted () iR e ) ‘
123. Which notion is expressed in the Nasadiya-Siikta 128. 37 & ST e H Eﬁfﬂif}fﬂ“ﬁ e
of the Rig-Veda? ) B %7’ ot
(1) Atheism (2) Pantheism (1) sfFrTaRarg @ '\Hﬁ'éfll_;\:d'l?{
(3) Monjsm (4) Theism (3) yhais (4) SeaRars
(5) Question not attempted (5) SrgaRer e J_mﬂ
124. What is the primary consequence of practicing 124 fspm & & srarg 7 g RO 4T 87
Nishkama Karma? | ) wrRrs SR (@) T
(1) Social prestige (2} Success .
[ Eqﬂhriiltlity (4) Self-improvement 3) T 1 ) Wf’ﬁ IR
(5) Question not attempted (6) STgRING T ' :h
125. Which is not a Vedanga? 125. )31 IS 81 &7 ) 3
(1) Chhanda (2) Shiksha 1) o= (2) fomT
(3) Ganita (4) Kalpa (3) w1forg (4) F1
) Question not attempted (5) sraiRa we
22 . s Page 26 of 32
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126.

127,

128.

129,

Which of the following statements about the'

Vedas is False?

(1) Rigveda is the most ancient:

{2) The Vedas are full of knowledge of
supernatural subjects only.

(3) Yajurveda has discourses on rituals.

(4) Vedas are non-human.

(5) Question not attempted

kY

According to Kant, which one (;f;the following is
not included in the essential postulates of

morality?

(1) Immortality of the soul

(2) The ability to perform actions
(3) The existence of God

(4) Freedom of will

(5) Question.not attempted +
Descartes’ *Philosophical -Method for attaining
certain and undisputed knowlédge of Soul, God
and World is. - P .

(1) Dialectical (2) Sceptical

(3) Intuitive (4) Transcendental

(®) Questionmot attempted

Which Theory of Punishment does depend upon
the concept of §e1f -Determinism?

" (1) Only Retributive Theory

130.

(2) Only Reformative Theory
{3) Both Retgbutlve Theory and Deterrent Theory
(4) Only Deterrent Theory

(5) Questlonr%ot attempted N
-Accordmg tj;) the Upanishads,
following four states of the soul -

there: are

(1) Bhootad Avastha, Vaikrit Avastha, Swapna .

Avastha;Sushupti Avastha

(2) Jagrat Avastha, Swapna Avastha, Sushuptl
Avastha, Tun_ya Avastha

(3) Vaiksit Avastha, Swapna Avastha, Sushupti
Avastha, Turiya Avastha

@) Jagrat Avastha; Vaikrit Avastha, Swapna
Avastha, Turiya Avastha

(5) Question not attempted

126.

127.

128.

129.

130.

'(5)a§ﬁﬁam S "

¥l B AR AT P Tor o
) w8
(z)ﬁa’rﬁfnaa%ﬁﬁrcﬁﬁwzﬁrﬁrﬁw%l
(3) I3 § oiaws g Tt ¥

(M 9T srdiegad |

(8) eraRa 5o

BT & AR, fiwar o Wwamﬁx
ﬁﬁwﬁﬁaﬁﬁ%ﬁmﬁlﬁrﬂﬁﬁv]ﬁﬂﬁ%‘?

(1) ST &Y ST '

(2) TH B B eHar S
'(3)~3°sa-\rzﬁrsiﬁﬁa'

(@Wﬂ%ﬁﬂ?ﬁﬂ

;F’s

méﬁw@?wmﬁﬁﬁaaaﬁ?ﬁﬁam
wwmﬁ%mmaﬁmﬁﬁiﬁﬁiﬁ

B 2 .

() ggr® -(Z)W

@) 7 =TS @ aﬂwm'cﬁ?r e T
(5} SrgifRer e B
U8 & B g aﬂm—ﬁwm-q’ Edl
TR TR SETRT 87 B

(1) daer yeNes g - o
(2) Boer gurRarE g .
@) TReREw Rigr sﬁ? HfoRIETeAw - g

EEi]
@) BTer wRrees R
(5) argeila =
SUMYE] & UK, Gﬂwaﬁﬁmmw
3
(1) s aroreer, ‘S SR, T e,

(2) i Srareel], “ee e gty STt

(3) dpa oTwn, Ww ofquel YUk efgwer,

Tj,'\"l‘é}ﬁ@ﬂ A TNE : "
(4) SIRTT  S7aRel], O%q ofavel, e GER%H
(8) argaRa we .
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131

132.

133,

134.

-In Social Science teaching, the correlation of

content with other subjects of curriculum is
called- ‘

(1) Vertical Correlation

(2) Horizontal Correlation

(3) Cross Correlation

(4) Parallel Correlation - %«

(5) Question not attempted %

Drawing and locating a country on a map is
associated with which one of the following
objective?

(1) Skill _ (2) Recognition

(3) Organization -  (4) Comprehensive

(5) Question not attempted

The most essential and spegific quality of a
Social Science teacher is -

(1) Many higher degrees ,

(2) Attractive personality K
(3) Modern clothing/ dressing

(4) Updated knowledge in subject

(5) Question not attempted

Which one of the fellowing is correct sequence

~ of Herbartian five step approach of lesson plan?

(a) Preparation ¢
(b) Presentation

(¢) Application

(d) Evaluation

(e) Generalization

(f) Association

Choose the correct code -

M ab,fec @ab,cdf
B b,c,d, e, f 4) a,b,c,d,e
(5) Question not attempted

essay type questions? ,
(@) Opportunity to thought expression
(b)* Objectivity in evaluation

(¢) Evaluation of writing skills

(d) Evaluation of critical thinking
Choose the correct code -

(1) (), (C) & (d) (@) (2), () & (0)
(3) (b) & (c) 4 b) & (d)

{3) Question not attempted '

131.

132,

133.

T s R §, vegeg B neg
& ora fawdl < iR P P § -
(1) e HE—a

(2) sl wE—wa

(3) i Ag—THEH

(4) TR "

(5) argaIRa e

A 3 e 3w 37 R T s R

e § & fra siea & ity &

(1) Bigret
(3) e H

(5) sy ug

(2) yer=EE
(4) arerEre

3w AR fafre o 8 -

134. g5

(1) e I=a SuRRT
(2) e afdaca
(3) SR Ferq _—
(8) faw @1 S §H P
(5) SIgRiRa’ g%

AT B gEE 9 Jaudid Sure ¥
frefafag § 4 o 98 59 22
(@) TR .
(b) UICHDR *
(c) IrgwramT -
(d) TEFHT ,
(e) waEITER i
€ <o -1

. W I BT I BT — a

135. Which of the following is correct regardm@

(Z)abcdf
(4)abcde

!'rr

M a,b,fec
3 b,c,d, e, T
(5) Sg<ING W
ﬁawmfkwﬁﬁﬁ%ﬂ@ﬁ#ﬁw
HEr &7

(@) ﬁﬂﬁaﬁwﬁazﬁw

(b) FeaidT § aRyFod

(c) o iU BT GIDA .

(dy aﬁhawﬁaﬁfﬁrw

| T B I PO —
1) (a), (c) Td (d)

2 (a), (b) T ()
(3) (b) Td (c) 4) (b)Td (d)

() argaIRe we

22 -
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136.

137.

Formal and Informal Group Plans are the forms
of which teaching method of Social Science?
(1) Brain Stormirig (2)- Socialized
S Recitation ~
(3) Problem Solviig  (4) Project
(5) Question not attempted
In Social Science tedching, globes which are
used only with surface areawise outlines are

known as -

138.

139.

(1) Political globe. (2) Physical globe

(3) Celestial globe (4) Slate globe

(3) Question not attempted

‘Which ‘one .of the followmg is mot a technical
characteristic of a good test?

(1) Discriininative (2) Subjéctivity

(3) Validity (4) Reliability

(5) Question not attempted. -,

Which of the following statement does riot
indicate the importance of correlation in Social
Science teaching? e

i

(1). Realization of the segregation of knowledge.

(@ Reduc;asr the burden of curriculum.,

140.

141.

{3) Facts’ become easier to understand.

(4) Provides practlcal application of knowledge.™

(5) Question not attempted

In relation to type of questions, which of the

following pair is not correct?

(1) Blank completion - Recall, ,

(2) Multiple choice - Recognition

(3) True/False - Recognition

(4) Matching - Recall

(5) Quesfi'oi?not attempted

Accordiné to* National -Curriculum Framework,

2005, wh1ch subjects comprise under-.Social

Science af $e secondary stage? ‘

(1) History, Geography, Political ~Science,
Economics

(2) History, Geography, Civics, Econonucs
Human 501ence

(3) H1story, Geography, Soc1010gy, Political
Science, Economics

(4) History, Geography, Political Science,
Psychology, Economics :

(5) Question not attempted

136. sitr=iRe vd oFiveiRe wgg (@) omr
e fGem o fea Beor /Al & s &7
(1) #Rass g (@) gaclipT s
(3) FHRAT I (@) Arsige (i)
(5) sriRa we

137. ymifos fagm o 4 o a9 399 w9E
IR G § TR ST ¥ @N o ¥ 3
PHEAN & — .

(1) woMift wwg () e Tole
(3) T Tollg 4 wT g
(5) SrpaRer W

138%@#%%@%@%@

TP fadyar =8 82

(1) Sgaemar o (ﬂﬁwﬁm—m
. 3) e (4) feaaiar
,(6) srIRa wew ' '

139. =i # W @ o WG Rg -
Rwor i wevdy @ wEw @ T A8 Hwan?
(1) S & GUFHROr BT I ST §
(2) greRref @ AR BT BH BT & |
(3) el I FHSAT ST &1 W 2
(@ammwmﬁmaamﬁmaﬂm%l
(5) srgaiRa e
140. 7591 & yoR & Hdy §, e & 9 S
T gEl T 87
(1) Rew gt — yearewor
(2) sgdwfosr — gl
@) 7 /o — yAMEE, |
{4) e — TR
(5) arpalRa weq
.3 grggmal  woe, 12005 & STER,
e WK W GEIN, Jagm & sia
P v e §7 i ,"
(Ugi%grﬂﬂiaﬁawm-rﬁl%rﬁamm
(2) gioerd, spiter, AFR® @, srfeme,
REIECACEIC

) sfer, Tﬁa ww,.w:ﬂﬁﬁaﬁ
e N

(4) shrer, e, TR 1‘21§n=r A,
pefene .

(5) Srgeiier W "
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142,

143

{1) Realism

Project Method is based on which philosophical
ideology? .

(2) Naturalism

(3) Idealism (4) Pragmatisim

(5) Question not attempted :

In which step of Problem Solving Method,
students are led to think over for all the possible

" tentative solutions of the problem?

144.

145.

146.

(1) Determination of objectives

(2) Analysis of information

(3) ‘Conclusion of the problem solving
(4) Formulation of hypothesis
(5) Question not attempted

Under visual mstructlonal support material,
which type of map is not. included in cultural
maps? ..

(1) Population @ Economic

(3) Political (4) Geological

(5) Question not attempted

Which of the following is not a component of
S'ociﬂ Science Unit Planning?

(1) Determination of instructional objectives

(2) Division of sub-units

(3) Decision about teaching materials

(4) Formulation-of introductory guestions

(5) Question not attempted

According to Bloom Taxonomy, which of thé

following type of questions are not suitable to

evaluate the achievement of comprehension

objective under cognitive domain?

(1) Tlustration questions

(2) Recognition questions
(3) Explanatory questions

(4) Classification questions

(5) Question not attempted

142.

143.

mﬁ%ﬁ%ﬁrﬂwﬁ‘cﬁﬁawmwa@ﬁa
0

(1) Zemefare (2) ypfarg
(3) arafarg (4) RiSTaTE
(5) Gﬂﬁﬁﬁ RS

Wwaﬁﬁfﬁzﬁﬁmwﬁﬁaﬁhﬁaﬁ

e @ W SR S A 0

144,

145.

(1) sewat a1 fEiRor '
(2) il @1 faweryor

«(3) TIRAT T BT fepy

(4) uRepreg=m @1 =i

) s e o
TR IS EG A & S 5

Wﬂo‘fﬂﬁﬁamﬂ?ﬁﬁﬁmﬁﬁa‘rﬁﬂﬁqﬁﬁ-

I "

) S (@) aife™

(@) <R @) wfifs
(S)ala,ﬁﬁﬂusﬁ' S
FrefeRad ¥ & Bivar arie R @1 518

IS BT TP ISP el 87

146,

(8) g g o1 A
(5) ageiRa e

1) geia we ' ;e

(1) SR Sqavdl @1 et

) . i

@ SU—gHEA B fwew

(3) fowror Wl waed fofa
\{]5--
EI (M
wH CIAF @ SR, ﬁfﬂﬁr@ﬁﬁﬁaﬁﬂﬁ
W%WW%%WG‘E@E&

Wi B Hedie B SUIE T8I 87

(2) g ue
(3) AT=ATHS T
(4) gefiepeor e
(5) s g%
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147.

148.

149,

150.

According to Edgar Dale, which of-the following
is the highest level of indirect

abstract
experiences? )
(1) Visual symbol (2) Verbal symbol
(3) Exhibition (4) Field trip

(8) Question riot attempted

F]

“The unit is ‘an organised body of information
and experience designed to effect significant
outcomes of the learners”. Who .gave this

definition?
(1) Good. (2) Morrison
(3) Wesley (4) Herbert

(5) Question not attempted. .

Social Science is a subject which deals with —
@ My, s

(b) Mai?_ gnd his relation wit‘h other men

(¢) Man and his environment

Choose the\c_:grrect code -

(M Only®),, @ Only (a) and (b)
(3 (a), (b) and (c) (4) O'Q}y_ (a) and (c)

(5) Question not attempted

Which of the following is not a principle of
curriculuzrp?gf Social Science?, ,

(1) Totality of experience

(2) Similarity

(3) Activity

(4) Relationship with community

(8} Question not attempted
¥

Ahi

147.

148.

'i49.

150.

TSR S & IR, FF 3§ W $iar smem

S SFMal BT STaad WK 87 |
(1) 329 Haog () wfess Haa
(3). 95T @) &= yoor

(5) Frmia g7

& B o affead fear war 1 9= o
o & 287

(1) i (2) 4i¥ra=
@3) = (4) g4
(5) IR e

e e e Y fwg & @ efa
& _

(@ "AFT Y

(b) AT d I AFE B WRF SED e o
(c) HAFE Td 9ES TR §

el B BT qUT BTG —

(1) Baat (b) (2) B9 (a) TG (b)
(3) (a), (b) TG (c) @) %aet (a) T (c)
(8) argiReT g _
e & @ s g R 9
uSTad! &1 Uh Rigia E 87

(1) sgwal @ weguia

(2) |9

(3) TTafafy

(4) \ETT | R

(5) 3R wes
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